D

2)

3)

4)

5)

6)

7)

8)

Whatis the full form of A
A. Amno Domini

B. Assistant Director

C. Aknowledgement Due
D. AfterDate

sused with dates?

Which of the followip
has least mass?

A. Neptune
B. Jupitar
C. Mars
D. Mercury

g planets of our solar system

Ozone gas is present in which
A. Stratosphere

B. Troposphere
C. Ionosphere
D. Mesosphere

layerof atmosphere?

Who built the Khajuraho temples ?
A. Holkars

B. Scindias

C. Bundela

D. Chandela

At which the following places is the famous
Kailasha Temple located?

A. Ajanta
B. Badami
C. Chittor
D. Ellora

Which of'the following is NOT a Union Territory ?
A. Goa

B. Lakshadweep

C. Dadarand Nagar Haveli

D. Chandigarh

How many spokes are there in the thlrma Chakra
(Ashok Chakra) depicted on the National Flag of
India ?

16

20

24

32

gaowx>

The headquarter of RBI is situated at:
A. Delhi

B. Kolkata

C. Chennaj

D. Mumbaj

9)

10)

11)

13)

14)

Thar Desert is situated in -
A. Rajasthan

B. West Bengal

C. Tamilnadu

D. Uttarakhand

Which of the following is the highest mountain
peak in Maharashtra ?

A. Taramati

B. Anjanern

C. Salher

D. Kalsubai

National Rural Health Mission (NRHM) was
launched inthe year:

A. 2003
B. 2004
C. 2005
D. 2006

Who was called the ‘Iron Man of India’?
A. Sardar Ballabhbhai Patel

B. Surendranath Bannerjee

C. BipinChandra Pal

D. LalaLajpatRai

Which seais to the west of Maharashtra?
A. Black

B. Arabian
C. Labrador
D. Timor

Marathi Language Day is Celebrated on
A. 15thFebruary

B. 7thFebruary

C. 20th February

D. 27th February

The river Koyna joins the river Krishna at
A. Satara

B. Karad

C. Kolhapur

D. Mahabaleshwar

Set - B (Statistical Investigator)



16)

17)

18)

19)

20)

A bag contains 7 blue balls and 5 vellow balls. If
two balls are selected at random, what is the
probability that none is yellow?
A __5__

33
B. 5

—

rJ
L

2
, ~

22
D. 7_
33

Damodar is 26 years older than his son. In four
years, his age will be twice the age of his son. The
presentage of hissons

A. l6years

B. 18ycars

C. 20years

D. 22 years

Introducing a girl, Nira) said. ‘Her mother is the
only daughter of my mother-in-law’. How 1s Niraj
related to the girl?

A. Husband

B. Brother

C. Father

D. Uncle

Covid—19iscaused by
A. Bacteria

B. Parasite

C. Virus

D. Fungus

Madhun, who 1s facing South tums to her lefi and
walks 15 metres, then she turns to her left and
walks 7 metres, then facing west she walks 15
metres. How faris she from her original position?
A.7m

B. 10m

C.5m

D. 8§m

21

24)

If Sunday falls on 30th Apnil, what day would he on
31stMay?

A. Saturday

B. Sunday

C. Monday

D. Wednesday

.' S S
| O E 6 )

S -

{ 3 I 7i 5

+— —h - e ma—

4] 3| ?

[ 120 } 126 120

A 12

B. S

C. 14

D16

Deepak has some hens and some proats, If the towl

number of animal heads is 90 and the total number
of animal feet is 248, what is the total number of
goats Deepak has ?

A 32

B. 3
C.

D. Cannotbe determined

(P
A

In class the average age of 75 students is 7 years, If
along with the class teacher, the average is 7.5
vears. Whatis the age of teacher age?

A. 37.5ycars

B. 45 years

C. $2ycars

D. 39vears

Ina factory of 140 machine parts, § percent were
defective. In a factory of 80 machine parts, 10
percent were defective. For the two tactory
combined, what pereent of the machine parts were
defective? -

A. 6.50%

B. 7%

C. 7.50%

D. 8%



20) Thecorrect sequence ofcommunication ig
A. Message Sender Receiver ”
B. Message Receiver Sender
C. SenderMessage Receeiver

D. Receiver Sender Messape

27) AB,DE,GH,? ,MN
B sl
B. 11
C. JK
D. None

28) Picktheoddone
A. Bengali
B. Marathi
C. English
D. Kannad

29) Inarowoftrees, onc tree is seventh from either end
of the row. How many trees are there in the row?
A 8
B. 13
C. 14
D. 11

30) In a class of 45 students, a boy is ranked 20th,
When two boys joined, his rank was dropped by
one. What s his new rank from the end?

A. 25th
13. 26th
C. 27th
D. 28th

31) arsfee 3T 3wl
A. <rerfa
B. Ui
C. anrfor
D. i) 1)

32) QT MERAT ST T
téﬁﬁ?ﬁ]ﬂﬂﬂﬂ"ﬂ? S el
A. GIRT T 1T SR,
B. WIRIGURITSI ST gy o).
C. ITSUD TS T AT hray,
D. T = Sy,

33) a1l =IO arartEr AT gy B
A. TTETTST6s0)
B. Yl gresol
C. dl-Uray {Ev)
D. I R0}

34) Py Ul T ol st alea
A. BER
B. PalET
C. "Rl
D. arydl

35) MERTTaVIRT3Te N7
A. I

B. Yrell

C. gl

D. 1%

36) NIV
A. 3]’23‘?}5 'll‘(!]'{ﬁ]ﬂ
B. TIT gup
c. 9R ot
D. XTI

37) R T el rereyesn s g,
frfae
A, W
g. fits
c. gl
D, W
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38) TR Frerear Ryvyacdyen aref Al
3N T ORI IR TS
A. &l
B. &H
C. e
D. dugH

39) Y3 ATTeT AR - ot wrsarehTes .
A. T AT,
B. {3 Wawd sRiw.
C. W AT 3RS
D. A AT,

40) *ITIH S T I[P Do I FTeaFrep
WWWWW T
IS BRI ST
A. TS
B. Advarreft
C. U= ®
D. IiPHIATE

41) Al Y BB GraHE aq T, Al
TR feh TR yor oryy
A. U HS
B. & |
C. ATHTRT
D. WA 3R

[ -..rf,-ﬂ
g oo

7| K
L

42) SRR zreETdr Y
IR W1 730,
A. ST aTey
B. 3Ty arery
C. foranfaziuo
D. HIHURM ey

A
M -
. (1 r;\'?

43) &ell - B4 - e gje R

A. dTeFR]

B. #Teviiqg
C. TR TN
D. W

44) TGS T =TT YTRATes) -TH1Y | (@i
3Mes)
A. TSYIHHR
B. I 3 pR
C. 3tferzrae=dt arerer
D. STHTISIGHR

45) SETTAVI ST | ot e ¥
RTINS 2 | crefyaigpaman e |

A. THE TFBHR
B. U 31eipR
C. 3UE [FHR

D. ERAISHR

-
)



46) “I'msurel’'vemetyour father.
A. Verb
B. Preposition
C. Pronoun
D. Interjection
47) Make theadjective of the word ‘occasion.’
occasioned
accusational
occasional
. occasionally

oawp

48) Choose the correct conjunction :

She bought a car, she was too young to

learn to drive.
A. if

B. because
C. although
D. ifnot

49) Iwillsingifhe
A. willaskme
B. asksme
C. askedme
D. hasaskedme

50) Hesaid, “Please helpme.”
Choose the option with the correct indirect from of

the above.

A. Heplecased me to helpme.

B. Herequested meto help him.
C. He ordered me about helping.
D. HesaidIneedhelp

51) Choose appropriate antonym for the word

‘Gloomy’
A. Idle

B. Wise
C. Cheerful
D. Sad

52) Choose the correct answer from the following and

fill in the blank:
A doctor who studies and treats mental illness

A. psychiatrist
B. psychologist
C. psychoanalyst
D. psychiatry

53) Givethe meaning of "To callita day".
A. Tohaveagoodday.
B. Toworkalltheday.
C. Tohavea freeday.
D. Tostop doing work of the day.

54) Choose the correct meaning of the given phrase or

idiom:

Lookinto—

A. toexamine thoroughly
B. towatch

C. toobserve

D. tofollow

55) Which of the following word s correctly spelt?
A. administration
B. convorsation
C. creatyre
D. devolop

56) Meaningof "Fly by night"
A. Nightjourney
B. ABirdbusyinnight
C. Cat'seye
D. Swindler

57) 1____ theapartment all day yesterday.
A. Clear
B. Washed out
C. Cleaned Up
D. None ofthese

58) Choose the word spelt correctly.
A. Substandial
B. Substantial
C. Substential
D. Substendial

59) Hecompeted
A. Off
B. With
C. To
D. Off

me for the prize.

60) He_____aVverygood grade in the examination.
A. Eamed

B. Given
C. Received
D. Noneofthese

Set - B (Statistical Investigator)



ol.

(o))
(V9]

Find median and mode of the messages received on
9 consecutive days 15, 11,9, 3, 18.4,15,13,17.

A 13,6

B. 13,18

C. 18,13

D. 15,16

. Which of the following mentioned standard

Probability density functions is applicable to
discrete Random Variables?

A. Gaussian Distribution

B. Poisson Distribution

C. Rayleigh Distribution

D. Exponential Distribution

When do the conditional density functions get

converted into the marginally density functions?

A. Only 1f random variables exhibit statistical
dependency

B. Only if random variables exhibit statistical
independency

C. Only if random variables exhibit deviation
from its mean value

D. If random variables do not exhibit deviation

from its mean value

The variable that assigns a real number value to an
eventinasample space is called

A. Random variable

B. Defined variable

C. Uncertain variable

D. Static variable

. Considerthe following statements:

i) A.M.isnotaffectedby extreme opservations.
i) Medianisaffected by extreme obgervations:
A. itrucandii false

B. ifalseandiitrue

C. iandiiaretrue

P IR oA |

66. Variance of a certain set of data containing 10

67.

68.

69.

70.

values is 200. If number 10 is added to all the
values in the data, what will be the variance of new
set of values?

A. 210

B. 190

C. 200

D. 20

For a certain frequency distribution mean is 10 and
variance is 400. The second raw moment of this
distribution

A. 20

B. 200
C. 400
D. 300

If X denotes number of boys born in a series of 30
births with the probability that the birth being a boy
is0.51, the probability distribution of X is

A. Hypergeometric(30,10,6)

B. Uniform (30)

C. B(30,0.51)

D. B(30,0.5)

A fair coin is tossed four times, the probability of
getting four heads is

A. 0.25
B. 0.125
C. 0.0625
D. 1

If X follows Poisson distribution with pammetcr4
then the first and the third cumulant of X is given

. 20and 25
dand4

Sand20
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71.

74.

75.

A numerical value used

A5 a summary measure for 77.
asample, suchasasample mean, is knownasa
A. Population Parameter
B. Sample Parameter
C. Sample Statistic
D. Population Mean
To enhance a procedure the control charts and
procedures of descriptive statistics are classified  78.
into
A. Behavioural Tools
B. Serial Tools
C. Industry Statistics
D. Statistical Tools
The variables whose calculation is done according
to the weight, height and length and weight arc .
knownas:
A. Flowchart Variables
B. Discrete Variables
C. Continuous Variables
D. Measuring Variables
A mcthod uscd to examine inflation rate sk
anticipation, unemployment rate and capacity
utilisation to produce products is classified as
A. Data Exporting Technique
B. Datalmporting Technique
C. Forecasting Technique
D. Data Supplying Technique
81.

Graphical and numerical methods arc specialized
processes utilised in

A. Education Statistics

B. Descriptive Statistics

C. Business Statistics

D. Social Statistics

Review of performance appraisal, labour tumover 82,

rates, planning of incentives and training programs
and are examples of’

A. Statistics in Production

B. Statistics in Marketing

C. Statistics in Finance

D. Statistics in Personnel Management

9

What is the arithmetic mean of the data set: 4, 5, 0,
10,8,and 37

A 4

B. 5

C. 6

D. 7

Which of the following cannot be the probability
ofanevent?

A. 0.0

B. 0.3

C. 09

D. [:2

What is the gcometricmeanof: 1,2, 8, and 1 6?
A4
B. 5
C. 6
D. 7

Which test is applied to Analysis of Variance
(ANOVA)?

A. ttest

B. ztest

C. Ftest

D. y2test

The arithmetic mean of all possible outcomes is
knownas

A. expected value
B. critical va]ye
C. variance

D. standarddc\.imion

Which of the i
! the following cannot be the value of a
corrclation Cocllicient?

A, -l
B. -0.75
C. 0

D. 1.2

Set-n (Statistical Investig',at(!ll‘:



83. Whatis variance of'the data set: 2,10, 1,9,and 37

89. Thevalue of R2,the coefficient of determination, jg
A. 155

always between
B. 17.5 A. Oand 1,including O and |
C.55 Oand 1, excluding 0 and |
D. 7.5

~land]1, including—1 and |

o 0w

84. In a module, quiz contribytes 10%, assignment
30%, and final exam contributes 60% towards the
final result. A studept obtained 80% marks in quiz, 9.
65% in assignment, and 75% in the final exam,

—land 1, excluding—1 and |

If 40% of boys opted for maths and 60% of girls
opted for maths, then what is the probability (hat

Whatareaverage marks? S maths is chosen if half of the class's population is
A. 64.5% airls?
B. 68.5% A. 05
C. 712.5% B. 0.6
q C. 0.7
85. Whatisthe average of3%, 7%, IO‘%l,andlé%? D. 0.4

A. 8%

B. 9% 91. Suppose 5 men out of 100 men and 10 women out

C. 10% of 250 women are coloyr blind, then find the tota]

D. 11% probability of colour blind pcople. (Assume that

both men and women are in equal numbers.)

86. Which of the following statement is true about the A. 0.45 s

following two data sets? ' B. 0.045

Data Set 1: 4,3,5,7,6 C. 0.05

DataSet2: 2,10,1,9,3 ¢ D. 0.5

A.meanand variance are equal S

B.mean and variance are not equal

C.mean is equal but variance is not 92. Ina colony, there arc 55 members. Every member

D. variance is equal but meap 1S not POsts a greeting card to g the members. How

many greeting cards were posted by them?

87. If an experiment is repeated independently for a A. 990

large number of times, it converges to a/an B. 890

A. expected value C. 2970

B. variance —mean

C. normaldistribution DL e

D. uniform distributjop

93. Find the sum of all four digit numbers that can be

88. Which statistical method g

used to estimate the
relationship between two vy

formed by the digits 1,3,5,7,9 without repetition.

I‘iab]es‘? A. 666700
A. Correlation B. 666600
B. Regression C. 678860
C. Covariance
D. 665500
D. ANOVA

Set - B (Statistical Investigator)



94.

95.

96.

97.

lues taken by a random variable are

If the va
negative, the ncgative values will have

A. positive probability

;3. Negative Probability

(. May have negative or positive probabilities

D. [nsufficient data

al number value to an

ariable that assigns are

The vz
amplc spacc is called

cvent nas
A. Random variable
B. Defined variable
C. Uncertain variable

D. Static variable

ibution, the sum ofall

In a discrete probubility distri
probablhtlcs isalways?

A. 0

B. Infinitc
C.

D. Undefined

The weight of
A. Continuous random vari

B. Discretc random variablc
€, lrrc«rularxandom variablc
D. Notarandom variable

98.

99.

100.

Forad
factorid
A.
B.
C.
D.

Con

iscrete V- X , mean

1 momem 18

16
9

10
-9

siderthe follov
In pnominal scale the order

important.
In ordinal scale the observat
itrue and ii false

ifalse and i1 true

jandiiare truc

iandii are falsc

125 Second raw

is 3.5 and second
moment 18

ving stalemenls

of observal]ons is

1ons are ranked.





